Economics 302

Spring 2005

Answers to Practice Questions 4

1. Assume that the production function is of the form 
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a. Write productivity as a function of MPL.
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b. If productivity increases does the MPL necessarily also increase? Explain using your answer to part a.

By looking at Productivity as a function of MPL the only way productivity can increase is if MPL increases.

2. Again suppose that the economy’s production function is
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A recession is a period in which output is decreasing. 
a. What would need to happen for a recession to occur in this model?

Either 
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, or 
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 would need to decrease. 

b. Are any of the causes above plausible explanations? 
None of these seems a plausible explanation for recessions. A sudden decrease in capital is only plausible if a disaster or war was responsible for its destruction. A decrease in the amount of labor is possible if people decided not show up to work en mass. A decrease in the technology parameter would indicate that we forgot how to do things, an unlikely prospect.  
3. Again suppose that the economy’s production function is
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Economic growth is defined as increasing output.

a. What would cause increasing output in this model?

An increase in  
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, 
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, or 
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 would increase output.

b. For GDP to grow at 5% per year, how must the other variables change?

Using the 
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 formula we can write
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There are an infinite number of ways to get 5% growth. All we can say is that at least one of the variables on the right hand side is increasing. 

4. Again suppose that the economy’s production function is
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Using algebra only show that the production function is homogeneous of degree one by demonstrating that
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5. On pages 78-79 Mankiw describes a possible means of evolving from a commodity money to a fiat money. His last step seems to be weak. Accepting fiat money is more than a social convention as we could not suddenly switch to some other method of exchange if we all agreed. Why?

Regardless of how we decide to get the goods we desire we must pay Federal taxes. These taxes must be paid in U.S. dollars. Thus, U.S. dollars are necessary even if consumers were to adopt a new convention for exchange.  

6. Describe the method the Federal Reserve uses to increase and decrease the money supply.

The Federal Reserve buys and sells Treasury Bonds on the open market to decrease or increase the money supply. An increase is achieved by making a purchase with newly printed money. A decrease is achieved by selling bonds and destroying the cash received as payment.

7. In the last half of the 1990s there was sizable economic growth accompanied by minimal inflation. Using the quantity theory of money explain why this might be odd and how banking innovations such as ATMs and check cards could help explain this observation.

Innovations such as ATMs and check cards would allow velocity to increase. This would take some of the inflationary pressure off the economy caused by an increasing level of output. 

8. According to the quantity theory of money with fixed V, if the goal of the central bank is to have an inflation rate of 0, at what rate should the money supply grow?

By examining the 
[image: image17.wmf]D

%

 formula for the Quantity theory equation it is clear that to have 
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, that is, the rate of money growth should be the same as the rate of growth of output. 
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